
Lecture 21: 03/09/09
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II2,5 The simple harmonic oscillator potential V(x)=1/2cx 2:



II2,6 Numerical Solution of the time-indep. Schrödinger E qu.:



III Formalism



III1 Superposition of stationary, bound states:









A. 0

B. ¼

C. ½

D. 1

E. Something else

A bound particle in a potential well is described b y 
the following initial wavefunction at t = 0: 

Here         is the ground stationary state with 
energy E 1, and         is the second stationary state 
with energy E 2. The functions         and          are 
normalized. What is the probability that a 
measurement of energy would give E 2 as result?
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III2 Hilbert Space:



A. f(x) = 1/x

B. f(x) = 1/ √√√√x

C. f(x) = x

D. All of the above

E. None of the above

Which of these functions is in Hilbert space for th e 
interval 0 to +1?






